



10555 Guilford Rd Suite 119 - 121  
Jessup, MD 20794

**We have prepared a quote for you**

**UPFIT\_2025\_FORD.Utility\_QTY1**

Quote # 005257 v1

Prepared for:  
**Bladensburg Police Dept**

Prepared by:  
**Mike Cassagne**

Lighting - Sirens		Price	Qty	Ext. Price
<b>FOG LIGHT AREA - SURFACE MOUNT DUAL COLOR LED'S</b>				
EMPSCG2SMS 5RBW	<b>mpower® 4" 3-Wire Light w/ Screw Mount, for use with mpower Arrow Kit and Connect-n-Go, SAE Class 1 &amp; CA Title 13, 9-32 Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White</b>	\$130.00	2	\$260.00
PMPSABZ01B	<b>Black 4" Bezel (includes gasket &amp; hardware kit) for use with mpower® Fascia 4" Screw Mount Lights</b>	\$11.00	2	\$22.00
<b>GRILL LIGHTS AND HEADLIGHT LED</b>				
EMPSCG1SLS 4RBW	<b>mpower® 3" 3-Wire Light w/ Stud Mount, for use with mpower Arrow Kit and Connect-n-Go, SAE Class 1 &amp; CA Title 13, 9-32 Vdc, Black Housing, 12 LED, Tricolor - Red/Blue/White</b>	\$116.00	2	\$232.00
PMP2BKDG AJ	<b>90 Degree Deck/Grille Adjustable Bracket Kit for mpower® 4" Fascia Light w/ Stud Mount - Black</b>	\$8.00	2	\$16.00
EMPSCG2STS 5RBW	<b>mpower® 4" 3-Wire Light w/ Stud Mount, for use with mpower Arrow Kit and Connect-n-Go, SAE Class 1 &amp; CA Title 13, 9-32 Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White</b>	\$130.00	2	\$260.00
ELUC3H010J	<b>SO - Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 5-wire harness: includes insert, Lens #1 (Extreme Angle) &amp; Inline Flasher Dual Color Red/Blue</b>	\$79.00	2	\$158.00
PLUCTCL1	<b>Replacement Collar Kit, includes 1 Collar, 2 Gaskets &amp; Screws for the Twist-In UnderCover</b>	\$3.00	2	\$6.00
<b>INTERIOR VISOR BAR</b>				
ENFWBF-12	<b>Ford Explorer/PI Utility (2025) Split Front R/W DRIVER B/W PASS P# -ENFWB01EJZq# -QSF060659</b> 12 LED - Dual Color DRIVER SIDE - RW PASSENGER SIDE - BW	\$766.00	1	\$766.00
<b>RUNNING BOARD LIGHTING</b>				
ESLRL61158	<b>SL Running Light, 61" - 5 Module, Dual/Split Color Red/Blue/White</b>	\$313.00	2	\$626.00
PSLVBK01	<b>Mounting Kit for SL Running Light includes: Bracket, adaptor plate &amp; Hardware Kit, Ford Explorer 2020-2025</b>	\$26.00	2	\$52.00
<b>UNDER MIRROR LIGHTS</b>				

Lighting - Sirens		Price	Qty	Ext. Price
ENT3B3J	<b>SO - Intersector Surface Mount Light, 9-32 Vdc, Black Housing, 16 LEDs, Dual Color - Red/Blue</b>	\$177.00	2	\$354.00
PMP2BKUMB8-D	<b>Under Mirror Mount Bracket Kit (each) for installation on Ford PI Utility 2025 for use with mpower® 3" and 4" Stud and Intersector Surface Mount, Driver Side</b>	\$25.00	1	\$25.00
PMP2BKUMB8-P	<b>Under Mirror Mount Bracket Kit (each) for installation on Ford PI Utility 2025 for use with mpower® 3" and 4" Stud and Intersector Surface Mount, Passenger Side</b>	\$25.00	1	\$25.00
<b>PROFILE LIGHTS</b>				
EMPSCG4STS 5RBW	<b>mpower® 4" 3-Wire HD Light w/ Stud Mount, for use with mpower Arrow Kit and Connect-n-Go, SAE Class 1 &amp; CA Title 13, 9-32 Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White</b>	\$130.00	4	\$520.00
PMP2WSDDB	<b>SO - Dual Window Shroud Kit for 4 Inch Light w/ Stud Mount - Black</b>	\$18.00	2	\$36.00
<b>REAR DECK BAR</b>				
ENFWBRF (12 LED)	<b>Sound Off - nFORCE 6 Module Interior Rear Deck Lightbar, Full 1 Piece Shroud, 12 LEDs Dual Color - R/A -B/A- QSF060659ENFWB01P3B</b>	\$863.00	1	\$863.00
<b>TAIL LIGHT LED'S</b>				
ELUC3H010J	<b>SO - Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10â€™ 5-wire harness: includes insert, Lens #1 (Extreme Angle) &amp; Inline Flasher â€“ Dual Color Red/Blue</b>	\$79.00	2	\$158.00
PLUCTCL1	<b>Replacement Collar Kit, includes 1 Collar, 2 Gaskets &amp; Screws for the Twist-In UnderCover</b>	\$3.00	2	\$6.00
<b>INTERIOR HATCH/REAR LIGHTING AND LIFTGATE</b>				
EXFS10002-D	<b>XF Flush Mount Light, 10-30 Volts, 9.8" Cable, SAE J595 Class 1, CISPR 25, CA Title 13, ECE R65 &amp; R10 - Dual Color Red/White</b>	\$62.00	2	\$124.00
EMPSCG1SMS 4RBW	<b>mpower® 3" 3-Wire Light w/ Screw Mount, for use with mpower Arrow Kit and Connect-n-Go, SAE Class 1 &amp; CA Title 13, 9-32 Vdc, Black Housing, 12 LED, Tricolor - Red/Blue/White</b>	\$116.00	4	\$464.00
<b>SIREN AND SPEAKER 500 Series Controller</b>				
ENGSA5100RS-P	<b>bluePRINT® 500 Series Remote Control System with Button Control, 10-16v - 100 watt single-tone</b>	\$825.00	1	\$825.00



Lighting - Sirens		Price	Qty	Ext. Price
ENGLMK013	<b>bluePRINT Link® Micro Kit, includes Module and Vehicle Harness for Ford Super Duty F-250-F-550, 2023-2024, Ford F-150, 2024 and Ford Police Interceptor Utility (PIU) 2025</b>	\$347.00	1	\$347.00
ENGSYM01	<b>bluePRINT Sync® Module, includes GPS Antenna, ECE R10 Certified</b>	\$240.00	1	\$240.00
ETSS100J5	<b>100J Series Composite Speaker w/ Universal Bail Bracket - 100 watt</b>	\$215.00	1	\$215.00
ETSSVBK01	<b>SO - 2020 Ford Utility Speaker bracket</b> SO - 2020 Ford Utility Speaker bracket	\$30.00	1	\$30.00
<b>DOME LIGHTING</b>				
60CREGCS	<b>Interior Light - 12 Diode Interior Light, Split Red/White, 6" Round Surface Mount, Includes Switches</b>	\$170.00	2	\$340.00
Subtotal:				<b>\$6,970.00</b>

Console - Mounts		Price	Qty	Ext. Price
<b>Console Equipment Setup</b>				
PKG-VSX-1800 -INUT-PM-5	<b>Package – VSX Console With Front PocketJet 8 Printer Mount For Laptop Docking Stations For 2020-2023 Ford Interceptor Utility</b>	\$1,331.00	1	\$1,331.00
C-EB25-XTL-1P	<b>1-Piece Equipment Mounting Bracket, 2.5" Mounting Space, Fits Motorola XTL2500, XTL5000-05, APX-7500,</b>	\$0.00	1	\$0.00
C-EB40-SO3-1P	<b>1-Piece Equipment Mounting Bracket, 4" Mounting Space, Fits SoundOff Signal Remote Sirens</b>	\$0.00	1	\$0.00
<b>TRIMLINE LAPTOP DOCKING STATION</b>				
7300-0605-16	<b>Panasonic Toughbook ® 40 Trimline Laptop docking station, Lite Port Replication, No RF with LIND 120W auto power adapter (7300-0610)</b>	\$1,449.00	1	\$1,449.00
Faceplate, Motorola XTL 5000 and 2500 Full Radio				
Subtotal:				<b>\$2,780.00</b>

Misc Additions		Price	Qty	Ext. Price
<b>REAR VAULT</b>				

Misc Additions		Price	Qty	Ext. Price
T-FDEXRM1-20N-PS-LR	<b>Explorer Magnum 1 Dwr Police Pkg Radio Lift &amp; Tray</b> <b>Magnum Height1 Drawer Radio Lift</b> Includes Radio Tray <b>Vehicle Year: 2023</b> <b>PPV No 3rd Row Seats</b> <b>Prisoner Cage: No</b> <b>Exterior Carpet: Black</b> <b>Interior Carpet: Grey</b> <b>Drawer Front: Black</b> <b>Composite Lock: Push Button</b>	\$3,532.00	1	\$3,532.00
	<b>Decal - Graphics Printing &amp; Installation -</b>			
Vehicle-Upfit-Decal	<b>Decal for Marked vehicle QTY12025 FORD PIU</b>	\$1,275.00	1	\$1,275.00
	<b>HEADREST GUN VUALT</b>			
VEHICLE-UPFIT-SUPPLIES	<b>Covert handgun safe</b>	\$495.00	1	\$495.00
Subtotal:				<b>\$5,302.00</b>

Technology		Price	Qty	Ext. Price
	<b>ETIX TECHNOLOGY</b>			
3320G-LTC-ETIX	<b>3320G Vuquest 2D Barcode Imaging Kit for E-TIX. Includes Scanner and 9.5' Straight USB Interface Cable</b>	\$345.00	1	\$345.00
PJ823	<b>Brother PocketJet 8 PJ-823 Mobile Direct Thermal Printer - Monochrome - Label Print - USB - Yes - 3 in/s Mono - 300 x 300 dpi - For Mac, SPARC</b> 	\$537.00	1	\$537.00
LB3692-003	<b>POCKETJET CAR ADAPTER - WIRED - 14 FOOT</b>	\$27.00	1	\$27.00
LBX110001	<b>Brother USB/USB-C Data Transfer Cable - 10 ft USB/USB-C Data Transfer Cable - First End: USB Type A - Second End: USB Type C</b>	\$25.00	1	\$25.00
27402	<b>11IN 4-PORT USB 2.0 HUB CABLE</b> 	\$16.00	1	\$16.00
<b>ANTENNA PKG</b>				
HAF4013A	<b>Motorola HAF4013 762-870 MHz 3dB Low Profile Antenna Kit</b>	\$85.00	1	\$85.00
Subtotal:				<b>\$1,035.00</b>



Installation		Price	Qty	Ext. Price
Vehicle-Upfit- Marked	<b>Complete Upfit - Marked Patrol Car - Labor Only</b>  To include installation of all above parts:  FOG LIGHTS GRILL LIGHTS HEADLIGHT LED'S HEADLIGHT FLASHER INTERIOR VISOR LIGHT UNDER MIRROR LIGHTS DUAL PROFILE LIGHTS IN CARGO WINDOW REAR DECK BAR TAIL LIGHT LED'S INTERIOR HATCH LIGHT SIREN AND SPEAKER CONSOLE WITH ARM REST, CUP HOLDER, AND EXTRA OUTLETS CF-31 DOCKING STATION AND POWER SUPPLY AND CUSTOMER PROVIDED RADIO (customer must provide all parts to include, radio, mic, speaker, antenna, and all needed wiring)	\$3,960.00	1	\$3,960.00
VEHICLE- UPFIT- SUPPLIES	<b>Misc. Material to include connectors, wire, and hardware, fuse block, relays, and all needed install supplies</b>	\$365.00	1	\$365.00
Subtotal:				<b>\$4,325.00</b>



## UPFIT\_2025\_FORD.Utility\_QTY1



### Prepared by:

#### Frontline Mobile Tech

Mike Cassagne  
240-280-8964  
Fax 2403604538  
mcassagne@frontlinemobiletech.com

### Bill to:

#### Bladensburg Police Dept

4910 Tilden Rd  
Bladensburg, MD 20710  
Tyrone Collington  
(301) 864-6080  
tcollington@bladensburgmd.gov

### Ship to:

#### Bladensburg Police Dept

4910 Tilden Rd  
Bladensburg, MD 20710  
Tyrone Collington  
(301) 864-6080  
tcollington@bladensburgmd.gov

### Quote Information:

#### Quote #: 005257

Version: 1  
Delivery Date: 10/01/2025  
Expiration Date: 10/30/2025

## Quote Summary

Description	Amount
Lighting - Sirens	\$6,970.00
Console - Mounts	\$2,780.00
Misc Additions	\$5,302.00
Technology	\$1,035.00
Installation	\$4,325.00
Subtotal:	<b>\$20,412.00</b>
Shipping:	<b>\$807.48</b>
Total:	<b>\$21,219.48</b>

Taxes, shipping, handling and other fees may apply. We reserve the right to cancel orders arising from pricing or other errors.

Frontline Mobile Tech

Signature:

Name: Mike Cassagne

Title: Sales Manager

Date: 10/01/2025

Bladensburg Police Dept

Name: Tyrone Collington

Date: